fEBRY DK O in 4

< %

i
X

Mo A

<~ R =)

e R

L

b S b A ABE 2

WA 2 aimAE (T)

4, 000

=
Se

1, 300 X 3,

JIF B 6 t
B 6 t
SS—41

500 X 150

FB—-—50X6

Z Rk TR AL

000

277



2550

L 4000L FALEYS  s120 5 & # X 100L FALF—L* &Yy =120
566 —_— i ik [e1300%x3000L B8R |0.65%00.04+0,252%2/9 =4, 256m] 4 % |400wk4o00LXxE50H
E K [mE 6.0t HE 8.0t 4.258m %1000=4258L E B|3.2t
1600 1000 1600
~ 4 f|ss-41 TRYR|42580LK6, 1%=258L 4 % |[ss-41
vvk-{ 6 500X150H Vi X®E [4258L-258L=4000L vkl | 6 250%X100H
BRAVK| FB-50%8 % 4 |1400H L-50%X50%8
3 T | AE RLEfE
m: D13 P
J \\ / N [ % $
\ v » E 4 B
" " b N B e ke .
% LN 7 AX100H } E=S a0 (J1S L-3405 7~9%) R ® & | 0.4°%0.65-0,0005%0,65=0,104m
. J15-5ka’em X 7 51 3
N ¥ ‘ 1 509%% 0.104m %1000=104L
2 S Sﬁ i FTABER [ 104LX8.6%=0L
o N\ SBAEWSL | Smm
5 -+ Zill £3 8| 104L-0L=05L
P 2nnb b
T Bl -
w0 ?
B / lusdiag lisgasg f 5 RABR
N
4 (R
n
s 4+ 7
y 4
g / 500
]
2 7 3 400 _ 13,2
/f@ﬁ'ﬂ'7/m>/v (@) : . ) 20-b 244 FBH0
/ =
22 ’ 322 300 o zlﬁil.lﬁEI\ |-t
200, # 3556 (92926 2550 - g 8
\ -
278 278
. 3000 300 1950 300 ~ 3 y
4 I R
2 g
6700 B 6800 / 319 0.0b131 , 319 g
BAEWLH b1 Smm y, j
3|
\ oL

300
1
]
1
|
4
1
300

— Z
= T | — o /m
2 / 1 x"
.1 A e
E ' / / / o
H ¢ / / 3 g
o5l I | | CE U W = mm\ \ﬁal
~ o
o - iy
o \ sl g . ALY
g S W)
= ‘I\Ea;am;s 5 ® N L=50ks0ks
= <
H Er s JELUic s 5. T
L/ g
“ — \\ = i = s s
= = n 8 ;\/ 9" /B_MQLME\E)
7
= i I v, ¥
— paniEKE § B-PL 6t
| [ | DJ‘ 4
IETERE NN ; N g e ’ Y4
! L
\n \41172" A-BOLT
A00X40Q,
500%500
1250 2300 1250 1390 = A-BOLT
k
il 4800 100 10 2550 100
|

X AT 7 Ak AANA-CRY ) BAF L FRIFEORRFTIR (T3,
2 9,509\ 3FLE EFIRN & AN T-C R 57> 2 RS HEE I TR BTHY 13,
3 FORE)oRE L ERIFHIIRG T 075

. |HRRHARTH

Cwmncwan oo AR B

TS

3 THEKFERRELE
e —
i

o |

63 N w

R




